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- 24 ST o2& BH X3 x V32 HTLE AM2IE2 (111)-EHe 7Y g AXE
StLte 22 4 (memory cel)Z 0|2FHCH, S 5™ ChY X0 2= SHX| 9HEE A4S
OlE HE (binary information)2 & 2 & HEAZICH, 32|10 F2|E (electric field)S
OlE8M F Y4 7t M| (transition)& 7IHEH2 2 (reversible) 2SS 2 0|7 HEE
e T AXH AL (write) XI2CH (erase). 0123 F 40| 3= Ho08t HA =
(electronic structures)i| ME HEE XHOIE 0|E8HM F S4= FEEC2M o2 A0
ZIRE 0| HEE Yo (read). 018 S8 oi22] e HEHE DH L X} (solid—state
devices)e| 2=F StAIQ © ¥ AX HH (0.26 nm"2) +F2 2 Y = UL},
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» 24 cOof o3 BH 2EZ Y3 x JIE WAAE AQIE (111)-BH2| 7i™ o] AX 3=
TR eHEE EoE 0|E5H0 0 F EEE LIetCt, T2|3 H2|E (electric field)E 0|28 A

ct| AXH| O|X HEHE AT X210 ml_l—_}
BuHo 9A CO) QF BH 2EZ V3 x I2 RAE A2 (111)-B0He| 7y oy
HAE SHLe| Hj22) 42 o|ESc 2y ‘g HES 15 A7} (solid-state devices)2 225

A BE B AL EHA (0.26 nm"2) 2FE2E §24MEH 5 fUch, 0l= B AFM HoliE=
H2ea| AXfe| 4 37|(DRAM: ~2x10"3 nm"2, SRAM: ~2x10"4 nm"2)0l H|3{M E7|He=
=0e wolt,
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= 2 T2 E S833d
71®0l% RY, 0|8 2= 7|1 X2 BE L
a2 #2  10-2013-0148548 -:-|';’?:'|43J-?| ;Tvmlil 1'.4:
FocH

':'3'# 3 x4 3 REE A= HYE (111)-HH STM A

(b) S8 59 A0 o HE HES RGN o HES R £2 STM AR
(c) T2 5 B9 A0 F7H2E o HAS Yol £9| STM AHE
(d) = G2 59 A0 4 H3ES Y27l 9 STM AT
(e) (b)ollM o HEE B A0 o S8 HUS Y76t Hel2 B2 BFEAT F2| STM M
() ()M o HEE 59 A0 & SE HYUS 276HH H2 Hye= BEAT £2 STM A



